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2.9 #13

The radius of a circular disk is given as 23 cm with a maximum error in measurement of 0.2 cm.

(a) Use differentials to estimate the maximum error in the calculated area of the disk.
(Round your answer to two decimal places.)

[ | % 28.90| cm?

(b) What is the relative error? (Round your answer to four decimal places.)

[ | % 0.0174

What is the percentage error? (Round your answer to two decimal places.)

[ | % 1.74 %

'-rab\.‘us oc AR ,L, fth Cwm
A.-_-_ orca 04‘-\ o c‘lk )L, ‘n glnqq'

A= TT’L
JA

ar
dA:—_ 2w e Ar

NTC —=——a

r=NRcm T 09 em
dr = Ar = + 2w

Ervor G‘g*l'-‘ma.l-—.zléauo’ SV LA {h meashy wu\l oC, "anus

— : a—
AA %= A =2w(3)(T 0,2) =T8T ™ . 28902652413

22890 em T A-Aj
L,Ou'l-\"( Evor © L__‘
SA L 2230 » 0.0173897083378
A A T (2D

Pt Error - (%6_3600%3 2134 %




251002.notebook October 02, 2025

¥_;;¢\ \r;;—/ “g:‘u) "'Ovs.?mJ' ﬂ'wr "I’P/IOX-M-\:")’,\’\_\,

X, = 100
%,-%, = 9F-100 = -3 =4 x =y
LG = £'60N(k- %) + £ix,)
s __—
Lry= Vx = x*+=—

)
P (
Qeix) = 1‘—«,’0 = 0—‘(:5\ Y
&)= $lwo)= 10

— L= £aN-xN &)

= 2 [x—no:)\ -\"0
<20

A - 10
- 40(0,'4. 00) +

\
= So -3) 10
2008 jeen
- ’.?_ _\_\00 = 2.0 2.0
20
S (~3)+10
20

= 9.85

va'rd
= 9.8488578018



251002.notebook October 02, 2025

For trig functions, this stuff only works if you're in radians.
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